
Formule Goniometriche: 
 
Formule di ADDIZIONE E SOTTRAZIONE: 

( )cos cos cos sen senα β α β α β± = ⋅ ⋅∓   dim. appunti sul sito del prof.cantone 
( )sen sen cos cos senα β α β α β± = ⋅ ± ⋅  
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Formule di DUPLICAZIONE: 

2 2sen sen cosα α α= ⋅     Dim.: 2 ( ) 2sen sen sen cos cos sen sen cosα α α α α α α α α= + = ⋅ + ⋅ = ⋅  
2 22cos cos senα α α= −     Dim.: 2 22 ( )cos cos cos cos sen sen cos senα α α α α α α α α= + = ⋅ − ⋅ = −  
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Formule PARAMETRICHE: 
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Formule di BISEZIONE: 
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* Sostituisco a 2β  con α  e quindi β  con 
2

α
 


